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L (2B p1e) Circle the correg) answer in sach of the f

ollowlnga: &
= The name of <> Oy |y . c)\
a) aniline b) #lyrene ¢) toluene \

¢) phenol I!i)]unlsol®
Ee
# The correct fira) alep mechaniam for 1he addition of HE) 1o propene iy
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Yoonaial L N v " CHyeHZen, g{ —
N (N | dy— CH= o ‘ -
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= Which of the following 14 a polar aprotic golvent? QRB
)

0
I
[ M0 (1, CHyOM LT (G 1v,

H4C I':'» CH;
*"qr;)'il [T and IV only b) 1 or Q- ¢) Land I only

d) 1L and IIT only &6{( them

, ina2-
#  The observed rotation (u%l - of an aqueoud solution containing 4.0 g of sucrose, placed in a

decimeter sample tul ,W 1" at 25°C. What s the specific rotation [u] of sucrose?
L"'a'yjaf,u" . NQS"B ¢) +30° d) +90° e) +15°

# Which of N@Jmnq ha#s the R configuration?
' % 'I“' ' || H

H
L. T lez
b) #F “"-II o) W J:""N”J d) | |] "CH, F,%j)l/\J/ o
LT % c s
« ¥ \ "My : f " :
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» Which of the following i the gtrongest nucleophile?

rﬂf;m b) NH; ) CH3O0H d)H20  e)HO"
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> What would be the major product of the following reaction?

CH CH3 CH3O" 2
H* B \

cH I 5@4“ X
o Oron oo 2O S
a) @ ©) &

) tro h||IC
» Which of the following is most likely to be the first step in the general mechamq)ai electrop

substitution reactions?

ox

X
Ilir'
» Which of the following alkene(s) pro 3-CHp-€—CHz-CHyas the major product upon addition HBr?
N A\ .
I
11 111

ﬁI and IT only %\b) IT and III only c)I, IT and III d) T only e) IT only

» The @ of the followlng reaction is

o CHyCH,S™ ?

—_—

« SCH,CH;
I N o sz%

I
a) equall amounts of I and II b) equall amounts of IT and ITT

[§%)
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c) _
|
. nly L) IT only

ASSu . o
m f +18°%
rot '¢ that (25,35)-2,3-dibromobutane has a specific rotation of

ation of the (2R,3R)-isomer ,-/ (A
N Q) g° b) +36° c) -9° d) + 18° E;ZH N %&
N

Which

e) III only pe the sP
Id
what wot

of the following compounds will give mefa directing major product? )L

0 (5 T-;Jg)\ 0 6 . é G g the
» &S "

of the following reactions proceeds with inversion of config“"q

|20Viﬂg group? Q
Q) E2 b) El E:C)'\SNZ d) Snl e@em

#
he slowest step of an Syl reaction involves: (

r;;

%b”’-“king the bond between the carbon and the Ieaw@up to
b) combination of q nucleophile with the carbofggag e the product.
¢) loss of q proton from the nucleophile to &,Th roduct.

d) attack of the nucleophile on the all%%

> Which of the following is not g ile? B
a) NH, EBYNHY : %c x d) Hz0 e) CH:O
> Which of the following is r%%l any (S)-enantiomer?

@If is the mirrog of the corresponding (R)-enantiomer. b) Tt is a racemic form.

: ; left.
¢) It rotates p Qﬁlarized light to the right. d) It rotates plane-polarized light to the

e) It hast& f symmetry (mirror plane).

» Wimch of the following is (are) correct resonance structure(s) for the intermediate formed in the

«\Q@rion of bromobenzene?

H H Br Br Br

O O by O, Ch

NO2 NO; NO; NO, NO,
II oI v

v

B Which

give a carbocafion:

I
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onlY

a9r . e)
1y ond v CBYIIT, IVand V c)Ionly  d)ITonly
- hich
of the following names is correct? A
'-Q) l,s-dlb ] h droxy_benze’ﬂz (
= Fomobenzene b) 3-nitroaniline c) o-ethylhy W
N -%P-_ ﬂmlnonifrobenzene e) 1,6-dichlorobenzene . %
Whlch I idl > \
alkyl halide would you expect to undergo an Sul reaction most rapidly: § 25”’5'
CH3 -
a) CH-.CH — 3 1 @
*CHoCHeH, L, i Br Tt o d) CH3CCHZBr
i b) CHiCHZHCHOHeBr 2T ﬂzﬁ; i \Q .

h
~ Wh; dwhenP
C rmé
hof the following structures is the most important resonance structur®&°

er
99€s o0-bromination?

~ The total number of stereoisomers of (m
SR
Q) 16 b) 64 C@. )8

~  Which 512 reaction will occur qundly in aqueous acetone solution?

8 HO™ + CHy-Br H + Br
BFHO + CH,T CH:OH + T
¢) HO + CHs-F CHsOH + F
d) HO™ + CHs-c¢ CHsOH + CI
e) They will all esbc dat the same rate.
Q) (l:H=CHz
H .
» The produ 1‘ ined from C\"CH, _%/T' is
CH2CH3

aQBﬁcaHy active b) racemic mixture ¢) meso compound Lﬁ,ﬂchlral e) chiral

&*\gmosf stable carbocation

% Hi¢—C—CHs  b) O" ¢) CHs d) CH3CHCHCH,  e) CchszHCHa
|
/ CH3

Identify the leaving group in the following reaction.
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+ I‘
CbHsS-Na+ + CHaCHzI —_— CéH5SCH2CH3 + Na *

Q
) Cehsscrycp, &) CHCHe!

c gms o A
of . nation?
the following compounds would be the most reactive to ring brominaf! CH?’K{

PCH, T\IH:, NO %
> % o)
@ 2 © & @ ! @ Q

> Which

of ;
i the followmg compounds is achiral?

@(D:N b)I,AI c) d’@\ c)H o

5
. clusion
I owing con
f the observed optical rotation of an unknown sample is zero&f the foll

(are) trye>

L The sample is o pure enantiomer QRQ'

IL The sample is a meso compound

III. The sample is a racemic mixture

/
II only
a)I only b) IT only ¢) III oni? @d) I and IT only @II and

s jor product’
IL. (12 pts) complete the 1‘oi|owin%%g|S by writing the missing reagent, reactant or major P

Q\ __Clé _cHy CHz CH l%r CihCY
& H
. @ Hz504, Hg™* ‘ H20 T Hgr
%
\Hz - x I: :l H—C=C—CH2CH>CH3 —I:-L—:Ilb H2C=CH-CH2CH2CH
H—C=C |EJ‘C?“ fJ“:l TCuzel e [t ] ?
/Qéb |Coved ™[]

H3c~
& 3 CHz—-CHzCHcha
Hac—?—CH2CHzCH3

al
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% 4 CHaOCH{CgCC 3}
CHiCH,0F + CHyCH CHBr —— [©
f )
HZCI'O4 [ Ao ! (‘%Ju |‘f1“a } \
heat @

CH3 cug Chy - @
@»/u\/ ﬂle
I:A‘“C13 :l \

H2504

HN03 A\
&

6 &

Iowmg pairs of structures

CHzCHa

(enanfiomers’

III. (5 pts) Indicate the relationship between eac

bb J sahefemers
CHy  CHjy

THZCH, ’BQ
o R

a A\
ot G—br Q%C"Cz“’ a{m
| o l

diastereomers, or same)

-—C==Cl
B,-.—C-- Br ¢
QQ CoHs
F
é—CH i i
il e LT 2 -
*Br—"l'-a‘h CHs—C—Bl"
EoHs caHs
H Br Br H
Br

6
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